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Introduction

It was not easy for Qin Jiushao’s Da-Yan Qui-Yi Shu to be understood in the
West. In 1852,Alexander Wylie published in North-Chaina Herald a famous paper
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titled ” Jottings on the Science of Chineas: Arithmetic” in which explained the solution
of Sun Zi’s famous remainder problem and the first problem of Shu-Shu Ji-Zhang by
means of Da-Yan Shu.He did this without showing explicitly how to find the Cheng
Lu,i.e., the solution of the congruence ax = 1(mod b). In transration this paper,
the German scholar K.L.Biermatzki misunderstood the Da-Yan Shu, confusing the
Cheng Lu with the Ji, which is the least positive residue of a(mod b). So did the
French Mathematician Olry Terequem in translating Biernatzki’s paper.
0o
The Chinese Remainder THeorem in elementary number theory is as follows: if k,

satisfies

M
K;—(modO m1) =1(i =1,2,,n)

m;
where M = mq, mo, mpr, m1, My, are relatively prime in pairs, then the solution

for the system of the congruence of the first degree

N =ri(modm;)(i =1,2,,n)

work put to an end of the history of interpreding the Da — YanQui — YiShu in the

west
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